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Search Information

Candidate: 3.51Hz_Cand RAjp000 = 18:51:24.3996 DEC, 000 = 04:12:46.3533
Telescope: Arecibo Best Fit Parameters
Epochy,,, = 54954.36611109458  Reduced x* = 8.440 P(Noise) < 6.12e=117  (~23.00)
Epoch,,, = 54954.36932722955 D|sperS|on Measure (DM; pc/cm®) = 113.032
sample = 6.5476e-05 topo (ms) = 284.6777(33) bqry (ms) = 284.6998(33) _
Data Folded = 3909120 topo (s/s) -0.5(1.0)x10~7 bmy (s/s) —0.5(1.0)x10~
Data Avg = 8.2e+04 P opo (s/s?) = 0.0(2.6)x107° P bary (s/s?) = 0.0(2.6)x107°
Data StdDev = 452.1 Binary Parameters
Profile Bins = 100 P (s) = N/A e = N/A
Profile Avg = 3.205e+09 a,sin(i)/c (s) = N/A w (rad) = N/A
Profile StdDev = 8.939e+04 T . =N/A
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